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GUESS Method

(Given: [ist all of the information provided in
problem Statement as well as assumed
values

Unknown s [{§H oF value (s) you want 10 solve for:

quabion® lyst of €quations you heed to solve for
Equahon u'tnkmwnq(s)

Sulostitue/ Plugin given values into appropriate
Solve : equation(s) to Solve for unkKnown(s),

Py .

Kinematic Equation Chart
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Examples:

A car in front of the school goes .35 secon . What is |t
: Equation : bs

Given Solve ;

5 = 30.0m V=S y = 20.0m

Gl 358 t 2,355

unknawnl: = 12.3 e

Ve mg™

What @nust you average to go .0 hours}7 .

Given: Eguqﬁ on:  Sul S{)Ne Conversionss

S=2%0Kkm veS \/= 2‘50,ODOW\ 250Em |1000m

+=2.0h 10,200 8 | Kem
- 280000 m

Unme:\: \’: ‘Ol m 3.01‘]‘3((__,005

Yz ms" @ K
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A car accelerates from.to m@What is |ts@')
Given _]__ql,{a hoi) ; qub./Solve s
0s

- m<”
A rocket accelerates at a rate o from resty What is
e 3; b fohe?
a=10ms @ V= +(l"'10)@ )

t=24s -+ Egquotion : V:LLS(O”&

u: OOmS M. "
\=w +al




A car_has a velocity of ccelerates at a rate of 3.5 ms for the
neWhat is its (final velocity}:
[en: nnown wD. /Solve :
al -l
=2 ms V=__msS \/ = 15 _{-( )(5)

Fquation: V= 325 ms”
Veutat =23 ms™

Whawi!! a trainin if its initial velocity iand its

acceleration is(-0.25 ms2?
on Sub ZSo\ve_

t:s.OS

Given 4 (Lnldnown !
[/L:?.%mg_! S:_,__,m o ) (23 >S
= B - 5 S

v=0.0ms"  Fquano: ~526r -529 |
VU208 -52% = —.pS g=[058m
3= {00 m

Whatwill a car cover accelerating fromo@n

S conds E S/S
ol s 5= (Wr‘/)i‘ ¢ = ([2 (17 +76) (J"f)
u=[2ms™ f 2

\= 2oms” ®®m

JL SFI
5= @ ’
A train travellng “ln a dlstance 0 What was its

a_?{‘rLs,, \/ - U2 +2a8 (O) (IZ +2a(51+|)
-Oms™ _ +[0%2
Wislols 0= \%’5*‘*%_1%F VXL(P

W
a=__ms” -4l = (087 a
I0%2  1B%2




A person starts a @- nd accelerates at-for @.
(a) What is thel final velocit .

ES; ://VVE:’: st ¢ do They Tover in that time? CC‘) )
6 Ean (@) , EQT&T’ o SJL’Liii“
a="32ms" V=Uta
u_zgms”] 5 /S(a)s o= (OI%)'*‘ ’é@@) 5= (04‘6@(6\
t=30s vel N3

(b) onvg.vel=___ mS Egn () EOU\ (b)

() S=—m v~ avg vel= (. w\-v)
\

A car w@t a rate of= The skid marks measur

What ispeed was the car going when it slammed on the brakes?

: WU 5/S3
Sttt L (O)'=ut 209(s1)
' O=ut+{63%2)

y= Oms-!
$=34m __Ed +63GTZ +¢39.2
N uz+208

A train can _accelerate at a rate o 0.15 ms2 Ingl it obtain a
speed o |f it starts fro

b=
a=0.15 me* s, m 22058
Y=25mst CZS} ( ) <

wOme @5e %S

\Timzas Q= ZDK%EM




A drag racer can reach a speed oover a distance of
(a) What is thefthe race car?
(b) Over whatcan it reach a speed of

G | E (@) G:

Vf63 ms~ vizut+2as azmgﬂ’i’
3112&2,[ $/S@: v=g5ms”

’ (53)'=( 0] +2al20) 4707

As 26°9= O +240a S=__m
o o-__ms2 2809 = JUba E:
@0 S5 So) yr=ur+as

2 s (@F=(0)202)s

Light from the sun reaches Earth in(8.3 minute JThe velocity of light is
.0x108 ms7. Ho@ the Earth from the sun?

Given: EQMQM‘} (pnversion
L-8%min J T 8.3 min| 005 _ 448s
V:%Dif()ﬁms_ W; "’#——'7 iml‘n

Unirown. 40x0Pe S £44%
Mg




A car is moving down a street a km h'*. A child suddenly runs into the

stree it takes the drlver react and apply the brakes,
ow many meters will the car have moved before |t begins to slow down?

(V7

Given Eguetion: _DSJF_SN7”9 Conversipn ;
y-55kmh” V=S 5273 % 55 ¢m| |00 Ih
b= 07735 T ho|l#m |2

Qc 1,458 m

5,978 ms™!
Unnoon

S=__m

Highway safety engineers build soft barriers so that cars hitting them will

slow down at a safe rate. A person ing a seatbelt can withstand an

acceleration o@ How({thic the safety barriers be to

safel car that hits a barrier at{{10 km h-'; _
Conwersion_

Given : Cauation :
a——’ﬁowf = ol szauuzm MIODDm, B
s é l(l)é < st K| Em ]BbDDs
= m h
(e ) @055} +Z(ao»~ 30.556 ms”
Lnknowh : (
Unnown - Q33,647 +(~600)S
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3=155b( m




